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QUESTION 1

Which choice best describes how to use a Behavior for discovery?
A. The MID Server selection method on a Discovery Schedule.

B. The Behavior drop-down menu on a Discovery IP Range.

C. The Behavior drop-down menu on a Discovery Status.

D. The Behavior checkbox on a CI.

Correct Answer: A

Reference: https://docs.servicenow.com/bundle/paris-it-operations-management/page/product/discovery/task/create-
disco-behavior.html

QUESTION 2

For the Parse Variable pattern operation, what is required to have two different parsing methods to populate variables?
A. Two different Debug Mode sessions.

B. A tabular and a scalar variable.

C. Two different steps.

D. Two different Define Parsing selections on the same step.

Correct Answer: C

one step = 1 parsing method, you cant have 2 (try it in discovery pattern)

QUESTION 3

What role is needed by the MID Server\\'s user account to interact with a ServiceNow instance?
A. mid_server

B. discovery_admin

C. sm_mid

D. mid_discovery

Correct Answer: A

Reference: https://docs.servicenow.com/bundle/quebec-servicenow-platform/page/product/mid-
server/task/t_SetupMIDServerRole.html
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QUESTION 4

A Discovery Schedule contains a /24 subnet IP Range and a Shazzam batch size of 5000. How many times will a
Shazzam probe be launched during discovery?

Al

B.2

C. 5000

D. 254

Correct Answer: A

Reference: https://docs.servicenow.com/bundle/quebec-it-operations-
management/page/product/discovery/task/t_CreateADiscoverySchedule.html

QUESTION 5

What entry point type must a horizontal pattern have to execute from a process classifier?
A. A subnet entry point type.

B. HTTP(S) entry point type if the pattern is running on a web server application.

C. TCP entry point type or ALL entry point type.

D. It does not matter, it is triggered for all entry point types.

Correct Answer: C

Reference: https://docs.servicenow.com/bundle/quebec-it-operations-management/page/product/discovery/concept/c-
UsingPatternsForHorizontalDiscovery.html
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